PIK: 618,18
Skala 1:100/100

Bl v 1STN= 0,40m2
Bl v PROU= 0,11m2
] nasyP = 0,71m2
B wykop = 0,44m2

P.P. = 114,00

RZEDNE
PROJEKTOWANE

-119,57
-119,57
-119,32

-119,13

RZEDNE
KONSTRUKCY

119,42
119,42
-119,36 |-119,51

-119,36 [-119,51
119,19

RZEDNE TERENU

119,33 47119,19
119,21

ODLEGLOSCI

8,(1349 ] “9’33_'119,24 119,62

—4,77 7 119,05
12,53 120,03

—4,07
-3,50
-2,50 1
-2,39
2,45
2,50
3,50
3,79

—-7,06 7 119,82

PIK: 667,45
Skala 1:100/100

Bl o 1STN= 0,98m2
Bl oy PROU= 0,11m2
] nasyp = 143m2
[ wykop = 0,10m2

P.P. = 112,00
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